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Instructions:

i) All questions are compulsory, Internal options are given in each question
nos. 5 to 20.

i) Each question from question no. 1 to 4 carry 5 marks and each subquestion
carries 1 marks.

A-434 (E/H) 1 (P.T.O.)

www.a2zsubjects.com

www.a2zsubjects.com

wod's)fqnszze mmm

wod's3fgnszze mmm



wod's)dfgnszze-mmm

wod's3Rfgnszze mmm

www.a2zsubjects.com

111)

www.a2zsubjects.com

http://www.a2zsubjects.com

a2zSUBJCTS.COM A-434 (E/H)

Each question from question no. 5 to 8 carry 2 marks and word limit for
each answer is approx. 30 words.

iv) Each question from question 9 to 12 carry 3 marks and word limit for each
answer 1s approx. 75 words.
v) Each question 'from question 13 to 17 carry 4 marks and word limit for
each answer is‘approx. 120 words.
vi) Each question from question 18 to 20 carry 5 marks and word limit for
each answer is 150 words.
vil)  Draw neat and labelled diagram wherever necessary.
1) 7% e A i T Aol § ¥ |9d {ee gaaw faled | [5x1=5]
(@) v dgEd & —
(i) SHre ™R (i) <R
(iii) T, 8. 9. (iv) D IAE
@) gaxTemT B AE R - 2zSUBJCTS.COM
.. Al .. I
i =2 i) =2
Al I
(i) e (iv) =<
Alb Ib
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U@ BIeH BT avT 35 5000 A ¥ | THET W B —
(i) 1.32x107% fba x Aex/d¥s

(i) 1.5x107% fean x dex /A%

(it) 2.32x107%7 fam. x Mex /A%

(iv) 5x107%7 f&am x drex/A¥e
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@ v BfeaT w & -
(i) sfrare® (i) gaeTS
(i11) GATEH (iv) oo
) 1 WEHIRE TR F Mg w1 A B Bf—
(i) 90 f& (i) o fai.
(iii) 9000 fa4. (iv) ex10® #rex

Select and write the correct option from the options given in each question :
(a) Optical Detector is :

(1) Diode Laser (i) Laser

(1ii) LED (iv) Photo Diode

(b) The value of current gain B is -

a2zSUBJCTS.COM

M G b
Al I

.... Al
(i) =< (iv) L
h Iy

(c) The wavelength of a photon is 5000 A. Its momentum will be -

(1) 1.32x 10727 kg. x meter/sec
(1) 1.5x 10727 kg. x meter/sec
(iii) 2.32x107% kg. x meter/sec

(1v) 5x 10727 kg. x meter/sec
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(d) At zero Kelvin, Germenium is -
(1) Superconductor (11) Good conductor
(111) Insulator ' (iv) Semiconductor

(e) The radius of spherical conductor of 1 microfarad capacitance will be -

(i) 90 km. (i) 9 km.
(iii) 9000 km. (iv) 9 x10° meter
R el & gt AR — [5x1=5]
(@) 1 T AR W o arel fEd a9 Y@el A 9 .. B B
(@) gaawE o R T . BT E
@) fre o & agid e BN 21
@) gl &7 faega fawa AT AT B
€) arlard® &1 Wk a1 NS ..o BT 8
Fill in the blanks : a2zSUBJCTS.COM
€} - Electric lines of force are passing through 1 coulomb charge.

(b) Rest mass of electron is .......ce.eee.
(c) The frequency of Direct current is ..............
(d) Electric potential of Earth is considered ..............

(e) Temperature coefficient of resistance is ............ for semiconductor.
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3) TR IAS FUT S o ' w0 ¥ g Rew gaew wE o
1Y | [5x1=5]
wH w9 T
@) ¥ga Rye # Rufe oo (i) %?
@) T fawor (i) PR F ga A
(@) orava fawol (i) pg-n-I
(3) . grRmERE gRAfasT & 37 «® (iv) 3R ¥ BT §
gEHIY 85 B daar
@) urmERE WRafee & v RR (v) —pECos9
R TEHY &5 B daar
a2;SUBJCTS.coM V1 1o

(vii) pE(l—Cos6)

Select the appropriate option from column "B" for each statement of column "A"

and match the correct pair :

Column "A"

(a) Potental energy of electric dipole
(b) Ultraviolet rays
(c) Infrared rays

(d) Intensity of magnetic field at the centre
of current carrying solenoid

(e) Intensity of magnetic field at the one

end of current carrying solenoid

www.a2zsubjects.com

(i1)
(iii)
(iv)

(v)

(vi)

(vii)

Column "B"

Ho'n'%

In treatment of cancer

‘Ho-n-I

In photography in dark

—pECos6

As Germs killer
pE (1-Cos6)
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TS FT TP 9 § SR A | [5x1=5]

@) fife of @1 avflw dr gar 2
@ T g y=A+B gN 69 @ife e o Tul )

@) gawrR ¥ *R vefor aar & w4t ?
(@) et o1 M, St AT W F w7 F SwErh &)
@) v & o3 e R, gEEedt A e s 6w uer AR o 21

Give answer in one sentence each :

(a) Which type of spectrum of neon lamp.

(b) Which logic gate is represented by Boolean expression y=A+B.

(c) Why is core of transformer laminated.
(d) Which microscope is also called reading lens.
(e) - How does the resolving power of microscope depends on the

wavelength of light used.
Y TP Sl & BT GEEg S 89 @ ] I faRad | [2]

Write two conditions for two optical sources to become coherent source.

a2zSUBJCTS.COM a7t / OR

Hax e B uRwia BRY |

Define remote sensing.

6) e P FEa & [2]

www.a2zsubjects.com

What is parallex?
3Er / OR
g Plow 3 RART SRA|

Define conjugate focci.
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TSI YT w9 & 3w ol [2]
Write the two laws of photo electric effect.
| #gar / OR
Heae g @ )
What is cut off potential.
Age T IS 8 ? G | [2]

Why modulation is necessary? Explain.
3erar / OR
R Rl Y QY Rdva R
Give two characteristics of laser rays.
faga a1 v§ e A F ey wenfia AR | [3]
Establish the relation between electric current and drift velocity.

a2zSUBJCTS.COM  gemar /OR

I & oo TR N e, Wieex o T R D O a9 SHT WRY e
T 9% ST 2 ? o df |

If length of a conducting wire becomes twice, when stretched. Then how
many times, resistance will increase, calculate ?

uffer Fa1 8, SWART wfga fafed | [3]

What is thermistor, write with uses.
arerar / OR
Ifer aTaHar Fa1 & ? SUANT fea folked |

What is superconductor, write with uses.
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11) wifde ST T 99 & JadFie F Haw wnfg AR | [3]

12)

13)
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Establish the relation between critical angle and refractive index of medium.
o / OR
ar ferfenm €, sror faRed )
Write Lhe.reaslonl fof tw,inkling: of stars.
frow & v & avdare ¥ O Pl oRAG B3
Deduce the fommlé for réfraéﬁve index of material of prism.
. et /. OR

Wﬂmﬁsﬁﬂaﬁaﬁﬁgﬁﬁmwﬁmqﬁaﬁm%laﬁ?

Give the reason, any lens is d;pped msxde the liquid, then its focal length
increases; why 7 _aZzSUBJCTS.COI\‘I

m%aéasﬁmﬁm%@aﬁm'mWam%wmﬁgm

| W@Wéﬂaﬁmmmwaﬁml | [4]

With the help of Blot-Severts law, obtain an expression for intensity of

magnetic field near a straight, long current carrying conductor.
e / OR

TH B ¥8 gHF & A gl ¥ WY g R Repr 5 iz ) gady &3 Y
mmﬁmwml

Derive the expression of resultant intensity of magnetic field at a point, which

is equidistant from poles of a small bar magnet.
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b ﬁiﬁaﬁﬂﬁsimlsz%aﬁlrmsqﬁloﬁsmﬁuaﬁ%l (41
Prove that : I =j% where I, & I, have usual meaning.
a2zSUBJCTS.COM 7T / OR é
#ax o 74 §, WRAfE wee wfta wweed | E&
What are eddy currents, explain with experimental demonstration. "%
15) Rga g=a = 5T I 8 ? 370 Rvad ol (@F ) [4] i
What are electromagnetic waves. Write their characteristics (any six) :
gremar / OR
gRarfa &9 :
(&) @7 T @ gmraa
Define - a2zSUBJCTS.COM
(a) Plane of vibration (b) Plane of polarization
16) wifg R o sl aver ¥g i e, wEfE iftm wfafam, we gfe
B~ g DI
Deduce the expression for magnifying power of terrestrial telescope, when %
final image is formed at least distance of distinct vision. %
erar / OR :
2

WA GeAQH! & A &l 3g Aot Faled, WEfe afifew we gfe &t
A T W |

Derive the expression for magnifying power of simple microscope when

image 1s formed at least distance of distinct vision.

9 (P.T.0.)
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17) Wil og FT & ? 396 IS4 "N Pe-o ¥ | eueEd | [4]

What is optical fibre. What are main parts of it. Explain.
a2zSUBJCTS.COM T / OR
HER o9 97 § ? 39 YO A e §| e IRG gRT $HEEd |

What is communication system. What are main parts of it, explain with block

diagram. _
18) mﬂzm@nﬁeaﬁﬁmﬁmﬁgﬁ%mww@l [5]
(i) wdlr®
(i) FEgRe
(i) gfera= ug
Explain OR gate and AND gate on the basis of following points :

wod's)fqnszze mmm

(1) Symbol
(ii) Truth Table a2zSUBJCTS.COM
(i11) Boolean expression
g¥ar / OR
P-N ¥fy SIS % aRT &1 YaE oy AFERY & w9 F wHwEd |
Explain flow of current in P-N junction diode as forward biasing.
19) RC weuadt gy uRey 3 fwifas figell & smR w® wweEd | [51]
(i) uRvEh e
(i) uRuer & gfErEn

wod's3fgnszze mmm

(iii) RoPR dieest 3R 9T & 419 Beia]
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Explain RC alternating circuit on the basis of following points.

(i) Resultant potential difference

(11) Impedance of circuit

(iif) Phase difference between resultant voltage and current.
amar / OR

PR § Soit g fha yeR &7 BT 2 | SWEEd |

How many types of energy loss in transformer, explain.

felt fig o % TR et Rig ™ Rwa & R afos w1 €

Deduce the electric potential at any point due to point charge.

a7 / OR
it i e e Reg AR
T j
State and prove Gauss's theorem, 2225 UBJCTS.COM

Ak ook
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